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e A H
T T [ oK 7 A
S T — 1T H 801 1,664 827 837
$5h) T —TH 554 1,299 639 660
$5h) T —=TH 756 1,617 828 789
3k  /hE * % 2,111 4,580 2,294 2,286
Z=oalil — 1 H 1,233 2,517 1,215 1,302
=il NE 1,219 2,274 1,111 1,163
Z=oalil —= 1T H 1,343 2,666 1,304 1,362
=il uTH 841 1,963 978 985
* %k /phE * % 4,636 9,420 4,608 4,812
E=IREe — 1 H 1,018 2,016 970 1,046
E=IREe —TH 1,027 2,149 1,027 1,122
E=IREe =TH 1,726 2,997 1,408 1,589
=Rk L E! 1,103 1,768 844 924
* %k /phE * % 4,874 8,930 4,249 4,681
B — 1T H 1,009 2,004 999 1,005
)1 —TH 693 1,627 817 810
)1 =TH 1,189 2,612 1,281 1,331
)1 L E! 924 1,990 995 995
* %k /phE * % 3,815 8,233 4,092 4,141
PHET)I — 71 H 888 1,840 906 934
PRET)I| —TH 749 1,664 780 884
PRET)I| —=TH 365 800 378 422
PRET)I| T H 1,390 2,909 1,447 1,462
* % /pNEF % % 3,392 7,213 3,511 3,702
* k 2REE* % 42,984 83,312 40,380 42,932

e A H
I T | Bk 7 z
FR AR —TH 3,075 6,359 2,972 3,387
FRAHT  — T H 731 1,507 743 764
FRAHT =T H 1,211 2,650 1,298 1,352
FOiRART PUTH 2,100 3,497 1,513 1,984
*k  hEE kk 7,117 14,013 6,526 7,487
o IR — 1 H 1,139 2,035 993 1,042
o AR —TH 967 1,974 1,005 969
o IR —=TH 1,472 2,864 1,420 1,444
o AR T A 686 1,437 709 728
o AR LT H 1,858 3,680 1,861 1,819
*k  hEE kk 6,122 11,990 5,988 6,002
VG iR —T1H 779 1,124 566 558
VG iR —TH 486 916 405 511
*k  hEE kk 1,265 2,040 971 1,069
TR — 1 H 726 1,190 563 627
TR —TH 763 1,488 732 756
TR =TH 525 827 410 417
*k  hEE kk 2,014 3,505 1,705 1,800
HUFIIR — 1 H 2,056 3,125 1,411 1,714
HUFIIR —TH 815 1,341 625 716
HUFIIR —~TH 955 1,673 788 885
HUFIIR T H 415 610 303 307
TS 4,241 6,749 3,127 3,622
5 — T H 588 1,073 544 529
5 —TH 754 1,604 816 788
5 =TH 1,409 2,688 1,321 1,367
Y5 T H 646 1,274 628 646
TS 3,397 6,639 3,309 3,330




